2 a0

Dedicated By:

7"02

Intro

Today we will 7”va learn 2”5 q7 of o'nat noon

Some of the topics we will learn about include.

The Halachah of

W9

1NN D372 AYIAIN UJTPb YTOI1PRY

\PWIIN PR

To perform wi7p, the 97> must contain sufficient water
for the v17’p of four Kohanim, but if the 71> contains a
lesser amount, the Kohanim may not perform wymp.

w2 nb obwn mpn wh obwnn 5

YU IPR Y25

All liquids that can complete the required Ww of a mpn
for 1520, can also complete the required 1w of the 9
for oM o7 Wi, but they cannot complete the required
M w for o7 nHol.

The Machlokes regarding

iRl

nYnm

Whether the water in the 97> must be from living spring
water, or can even be from rain water.

The 0177 371 made the following distinction:

PIW RO ROR 130 RS

509

nn RDL HIR

>

NI AR PO

TP2OPINRI

Only if the Kohen became xnv from a Sheretz does the
7M1y becomes Pasul;

But if he became X»v from a corpse, the 7712y remains
Kosher;

Because since n» Xnv has a R9p, a leniency, in that nRm0
281 7797 and in a 12’3 129 a N RO j0 is permitted to
do the Avodah n>nno%;

Therefore, in a 7r7129p, if a N XHY 175 did the Avodah
7273, it is Kosher, because the y’3 is 73, it validates the
7.

However,

PIW ROV

509

Because even regarding a 112°% 127p

PV DRI

MNVRI TN R

A Kohen that was y7w Xnv is forbidden to do the 7may.
And the Gemara elaborates that the 0177 °3pt must also
hold the following

1.

PV RDO DY PRI POMY

121n3% an individual who is y7w X0 can send a oo
PWRY, because he can purify himself before the night and
eat the noo j29p that night.

2.

PIMI2IP MWD N RHV

7272 if he was n» Xnv and brought a pwxI noo the
Korban is Kosher.
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. So, let's review ...

The Gemara proceeds with a previously mentioned

statement ﬂ”: I,D

alilh)
t 9 NN
00 T30 VAR WP 7212 PRY UTPI’ 7212 ] RW
7 PWTPN PR 129D 021ND NYAIR
To perform wi7p, the 71> must contain sufficient water for ) Y
four Kohanim, and if the 973 contains a lesser amount, the 12 ] UTPD ] R
Kohanim cannot perform wi7p, because the Pasuk states To perform wiTy, the > must contain
P12 IR WD D IR . sufficient water for four Kohanim,

1R 7w along with his two remaining sons MR WHR,
were in all four people.

because the Pasub states
LI PR SR 15 RN

AR nwn along with his two remaining sons MR MLIN,
were in all four people.

The Gemara questions this from the following Braisa: AN
POIPH 0915 5

Y2972 PRY PA Y7172 00 P2 $

W 5 35w 7251

A Kohen can perform vi7p from any utensil that is a *>> ]’\’JTPD D’I’Dn IJD
n7w even if it contains less than a n°»°17 water.

Apparently, the Braisa holds that a 1w is not required for

N°Y129 jN2 VW P2
VITR? Y227 1Na PPRWY )2
. NI 95 1MW 725!

A Kohen can performwimp
from any utensil that is a MW 15>
even if it contains less than a »p2) water.

Apparently, the Braisa holds

The Gemara answers that a W is not required n?
N quired for mmyp?
This Braisa refers to where a small nvw °5> was lodged

into a hole in the side of the 91>, and the water of the 71> v

poured out through this *5>.

Therefore, the Kohanim can perform wi7p from it
because this water is connected to the water inside the 9>
which has the 11w of four Kohanim,

12102 DTN

Therefore, the Kohanim can performwimp from it
because this water is connected to the water inside
the > which has the ww of four Kohanim.
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. The Gemara now cites the source for PwTp» 0531753, even
though the Torah specifies a 713, because the Pasuk states
IO PI PIIRIZAN ..

, The Gemara now cites the source %or
1M I TV SR SR DN .

pPRTIN DboN D>

The word 13n7 includes even though the Torah specifies a >,

nw 5
oI because the Pasuk states

They can perform w7’ from any utensil that became " T b "
wTpn, because it's like ‘the 71> in that 7&7:73 7'&=7 PoON 7& ™
L8 i =P DEx by mxvas

D ARWN YV
Both were anointed with the nnwni jpw and became wiTp.
v
PRTPD MW 152

They can perform wiTyp from any utensil that is wTpn,
because it’s like the > in that

1MNIO NN N

Both were anointed and became wiTp.

L5am v f=EN ™

And the word 1m» excludes L8y -‘3)77: ON BN oNI=S
pllaRon! v
POTPH PR
. They cannot perform w17p from an ordinary utensil, PWTPD PN - b n ’b 231
because it is unlike the 7> in that They cannot perform wmimyp from an ordinary utensil,
T AW PYO PR because it is unlike the > in that
g(l)ltli ;126(3)1:21; Z;i]sj Tlot anointed with the nnwni pw and did MDD NDWD DDD P N
And This utensil was not anointed with the nnwpn jpw
um and did not become wiTp.
POTPP PR
One cannot perform wi7p from the base of the 7>, even
though it is imwn v, because the Pasuk states 102
WM NV I POY)
PRTPN PN
The extra word nwni excludes f'. "N One cannot performwmp
PIWRN UMD from the base of the >, p—
MR IR ' . - even though it is nmw» w, -
grlgiq b:;e is l.1ke the 9> only in one way, in that both are becawse the Pusuls states
pper; . ! -
But the base is unlike the 7> in that it's not eligible for Y RE ykmy ek myyn= ﬂ”"wy)
wITp.

_____ v

PHWPN NWNID
DR N2TH N

The base is like the > only in one way,
in that both are from copper;
But the base is unlike the >
in that it’s not eligible for wymp.

)
eskel .
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The Gemara then proceeds to discuss the contents of the
W

And wp5 v says

MR M5 ohwni v

WM Hwn

DOWUN IR YaH

All liquids that can complete the required mw of a mpn
for 1520, can also complete the required 91w of the 1>
for o5 07 WiTR, but they cannot complete the required
M w for o7 N>l

As the Gemara explains, w5 wn refers to the Halachah in
RPN NOOB,

MMM ARD 'DII WV PN

RO S0 IR0 |3

WO TIN

If a mp» had the exact 1w of 40 XO and a person added a
7RO of other liquids, and then removed a 1xo of the
mixture, the mp» remains Kosher;

Even though the remaining mixture of 40 780 does not
contain 40 7RO of pure water, it's Kosher because when he
added the other liquids the 40 7RO of water was S0,
nullified the 1 7xo of other liquid.

Similarly, regarding 7>

Sonm

Wwd

If the 9> had the m»’w of 37757, and one added other
liquids and then removed the same amount of mixture, the
remaining water is fit for v17°p, because the 023737 MW
of water was S0an the other liquid.

However, regarding 0’7 n01

50110

509

If a utensil had a n°y*17 water, and one added other liquids
and then removed some of it, the water is not fit for n>v3
D7, because as Rashi explains,

1PHI0IY Y277 RION YW RV RDT

The small amount of 1 ’y°27 water is not significant
enough to nullify the other liquid.

DafHachaim.org
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mpn M oHwNN 55
M0 MO DOwN
050N 1R N°Y2719
Allliquids that can complete
the required 2w of a mpn for nbaw,
can also complete the W of the > for p5an D1 wITH,

but they cannot complete
the required W for o™ nbwa.

v
The Gemara @%[km
if/)/ﬂ? r%em/ ty the Halachah in PN PION,
MMON IRD ‘N 12 WV MPN
RO YO RO M
WO NT 2N

If ampn had the exact Ww of 40 NRD
and a person added a nRD of other liquids,
and then removed a nND of the mixture,
the mpp remains Kosher;

v
Smw/bréy rzgar/m?/ wo N
01 1M
WO
Ifthe m> had the ww of D1n> 7,

and one added other liquids and then removed
the same amount of mixture,

/‘/owwer, re?a///m?/ p’?’ﬁ//[
on 1m
210D

If a utensil had a m»2d water,
and one added other liquids and then removed some of it,
the water is not fit for o nbwy,

because ass ’&WW
10PDIWV3D PIWITIT HIVY NWIE HIED HO7
The small amount of) 1_pryir waier

WM?‘WW ema?/vfo w%?‘/wof/wr W
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. The Gemara proceeds with another Halachah of wpb w»:
WM YW MPH D
Rain water can be used for the 7>, which implies that w»
wpb holds
MPIDPN DD KT
The 73 °» does not need to be from living spring water.

@/’)/fn
13 70Y DPWI MpPH M

Rain water can be used for the >,

And the Gemara concludes that this is a o’Rin np>mn

SRV’ 227 holds N e

D 7% WM that é/o/éa holdy

s 102 DD DD ROT

The water in the 37> must be of on o, The > does not need to be from living spring water.
While the o'»on hold

WM

7 YD IR

The water in the 773 can be of ordinary water. And the gemam/ concludes

...... that fﬁww@pfgﬁ/wﬁﬂ
vy é}ﬁ/@ P
7 M MO M
10 7NN IRVN 1N YN M

The water in the m> The water in the m>
can be of ordinary water. must be of b»n Dp.
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The Gemara proceeds with the Mishnah'’s Halachah of
509 57

If an uncircumcised Kohen performed the nmay, it is
disqualified.

This is derived from two Pesukim in SRpir q00:

1.

w5 ac o

MWTPH OR R R

This Pasuk teaches that a Kohen who was a 92113, an
apostate, or an 57, is forbidden to perform the nm2y.

2.

And a preceding Pasuk states

Jw1°57125°59Y 721 °12 DRI

T2 NR 5om5 wIpma N

This Pasuk teaches that if a 723 12 or > did perform the
nmay itis disqualified.

The Gemara then discusses the Mishnah’s Halachah of
5109 RO

If a Kohen who was Xpv performed the 7may, it is
disqualified.

The 017731 made the following distinction:

PIW RV ROR MW RS

509

nn ROV IR

>

NI NIV PO

T2 NRM

Only if the Kohen became x»v from a Sheretz does the
172 become Pasul;

But if he became v from a corpse, the 772y remains
Kosher;

Because since nm» Xnw has a R91p, a leniency, in that iRm0
M2%279m; and in a M2°X 129 a N RPLV [0 1S permitted to
do the Avodah n>nno%;

Therefore, in a 7 j29p, if a " XpY 170 did the Avodah
T72»°73, it is Kosher, because the y’x is 737, it validates the
7Ty,

However,

PIW ROV

500

Because even regarding a 112°3 1297

PIW PR

MNVXI IR

A Kohen that was 9w 8nv is forbidden to do the nmay.
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== 724 f= oo
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s »o=in s o=in
PenRE D NI XD
TP N e ipmion o
This Pasuk teaches This Pasuk teaches
that ifav23)2 orbw did that a Kohen who was a2
perform thenma it is 22, an apostate, or an >,

disqualified. is forbidden to perform
the nma.

900 XDV

The pp» > PS5 made f/w//o%ww% dustinction:
Y R
51DD - YW ROV RON

WO - NP NP ban
NN NNIVY PPV

Only if the Kohen became Npv from a Sheretz
does the nTiav become Pasul;

But if he became nov from a corpse
the nmap remains Kosher;

Since nn RoY has a N5y,
in that M2 MmN INDI;
and inan¥ )23 ajnd
DD NpY is permitted

to do the Avodah n>nnab;

Therefore, in a 7'M )2p,

if ann Nov > did the Avodah

72072, it is Kosher,
because the yx is ¥,
it validates the nTap.

However,
5ID® - yIw NDD
Because even regarding a n»x |27
YW DRDID
71282 NIMN RS
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And the Gemara explains that we might ask that since a
yIw RV s less stringent than a nn 8V, we should derive
through a vm Sp that if

DN RNV 7D

N2 7D

Certainly

PIW ROV 177D

MNP TION

However, the Gemara answers that it's not so, because the
source of M2°x1 77min IRMY is the Pasuk in 7nnin nwao
TV 2P IDWN

From which we derive

1TV

nawa»yor

TV

RNV IR

A 1277 that has a »12p 3, a set time, must be brought in its
time;

Even on Shabbos;

And even if either the 1921, the Kohanim, or the p19om1,
the owners, are Xpv;

And since 17121 is a source for both 1195m and P90,
the 0177 73p1 say

77901

[laanlglen)

PI05I

K5 70 RO PR DD RO

PI000 R

RO W KOO PR DD ROV

The nxmv i applies only to a axmv which is permitted
for both the 11951 and P05

Just like for the owners, only n» nxiw is permitted, but
not yIw NRMY;

So too, for the Kohanim, only n» nxmv is permitted, but
not yIw NRMI.
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Since a yw Nov is less stringent than a nn Nop,
we should derive through a»m bp that if

DY NP )N
7282 "IN
Cerfaw%/
YI® NDD )nNd
712282 NINN

v

because the source of M1¥2 MM ARV
is the Pasuk in Tonn pwio

T o S 1l

Ve 7 SN
NRDID2IDON NIwI IDdR

A2 that has aviap o1, a set time,
must be brought in its time;

And even if either the p19op, the Kohanim,
or the®anp, the owners, are RDD;

And since y7vm2 is a source for both oon and 220w,
the pnT pT say

PIDONND = PIDIN

/I ﬂé
PR DD RDLD

RD yIw NpD

The nnmw 3 applies only to a nNow which is permitted
for both the mvon and r92nw;

JICYN I
PR DD RDD
RD YW NpD

Just like for the owners,
only n» DNDI is permitted,
but not yw nNow;

So too, for the Kohanim,
only nn NNDI is permitted,
but not yw nNow.
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And the Gemara proceeds to explain that 077 3p1 hold
PI95mm

PV PR IR

Because regarding 3w noo the Pasuk states

WOIZ RV PP D WR VN ...

> noo MYy

The exclusive word wX teaches

NI VR

PRATI NI PN

Only an individual that is XV is disqualified to bring a
PWRI N9, and instead brings a *1w Noo;

But if the majority is X»v, they are permitted to bring a
pwRI Moo even though they are v,

Therefore,

AnT Taw 5o

ARPIVI PTIY NY

The 712°% can bring a pwr1 noo only for the same xRV
which disqualifies a 7r from pwra noo.

And since the 017301 hold

PV RV SV PRI poMY

A 7 who is y7w 8o is not 7173, and he is eligible to send
his pwra noo because he can purify himself before the
night and eat the noo 129p;

Therefore, if the 112’ are y7w XL they may not bring a
RMVI PWRI 1Y, but rather they purify themselves and
only 01w 037 perform the nmay.

However, according to the opinion of

PV ROV 5V PRI POMY PR

A vy rnv is disqualified from sending his pwxa nos;
Then, even if the 112’3 are 7w RV they may bring a noo
TRIIVA PR, because

AT T 53

ARMIVI PTIY NVX

This discussion continues in the next Daf.

DafHachaim.org

A
The gemam/ W that s> > PS5 hold
1°795n1N2
PIW NRNIV NN RS

Because regarding 1w npo the Pasuk states
gl naty = 0o o Bon
‘= 1rog

203/ o¢
/13) W3 pt
Only an individual that is NDD

is disqualified to bring a pwN1 NDY,
and instead brings a v npy;

But if the majority is nop, they are permitted
to bring a pwN npo even though they are nov.

Wr%ar&,
ANTIY Taw bo
NNDIDI PTAD NN

The ¥ can bring a pwn) npo only for the same NN
which disqualifies a 7 from pwR) nDY.

And since the pp» > PS5 hold
PIW RNV Y PPN POMY
A T1m who is YW N is not "N,
and he is eligible to send his pwN) nDo

because he can purify himself before the night
and eat the npo )27p;

Therefore, if the Mm% are v 8w they may not bring
a R W NDO, but rather they purify themselves
and only pnnw D> perform the nTay.

However, Wr/m?/ o the gpinion 0/5
YW XNO P2y PPN POMY PR

A v Now is disqualified from sending his pwNy npo;

Then, even if the ¥ are yIw Nov
they may bring a nNpv2 DWRI NDD, because

NNTIY TNaw bo
NNDIDI ITID NN
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